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Chaptefz— Linear Systems Problem Solving

Show all work. Round all answers to the nearest tenth. Place answers in the “Answer” box and
remember units.

1) Determine the X-value of the point of intersection for the system represented by:

y and ==-x+1
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2) Which of the following ordered pairs represents the solution to the following linear system?

S
y:@'and_ 7x + 10y'= 92

Tx +10(7x-37) =94

e T +708- 3093,
B.) (6, :
C. (—5,6) 71_:.]" = q_g:l
D. (=6,5) —
. o ANSWER:
_ Y= Tx=37 B

3) Solve for x:




and 15 anchor bolts welghs 4 pounds. How much does a single hex bolt weigh? (Answer in pounds
to one decimal place) hint: let h = weight of 1 hex bolt,  let a = weight of one anchor bolt

O |kt [0 -7)X3 - () 36k +30q = 2]
@(5h+ 154 =4 )x-2 %+ -10h-30a=-8

Toh =13
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5) A boat took 3 hours to travel 24km with the current. On the return trip, the boat took 5 hours to

travel 24km against the current. Determine the speed of the current.
let b= ¢ eecl o'P boat in cfill water 0] btc =8

fet ¢ = SPeeat ot curr¢n+ - @ b - =4, 8
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ANSWER: N .
Speed of current = l-é km/hr
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6)®he sum of two numbers is 152, e numbser is 4 less than 3 times the other number. What are the
two numbers? leb x = one pumber : let 7/ = aH!er #

Ozx+y=1I52 @ z=3v-4
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7) Aﬂhu@:vestcd a total of $15000 between two bonds.@e bond eamed/{fﬁper annum (per year)
and the other bond earned 10% p’e’r annum. In one year, Arthur earned $132)on his investments.
How much did he invest in the bond that earned 10%?

et 3= 4 invested §) 8 % S value For y here!
let y = Hinvested & 107

O 2 +3 21500 — 9 x = 1D
@ 0.08%+0.10y =132
0.08( +1500)+0. 1y = 132

-0.08y +120+Q. 1y = 133, ANSWER: he »'nucs+:c\
= S 4600 6 107,

he als_‘b invested
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8) For the following system: e it S Qnswed s

O 4x+2y=8 —~ -
/x@wﬁﬁjﬁaK \“m%wm
2) Find the solution: (by Addition or Substitution) W

\: O Yz +dy = 8
PO bx -y A
|0x = 10 choose (1)

=l 047+2y=8

() +2y = 8

on (1,2 SR
SoluTion ) 2y =1

b) Determine which Quadrant contains the solution (I, II, III, or IV)
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